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Figure 1: Missing mass distribution. N20, run 2280
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Figure 2: Electron momentum. N20, run 2280



XND:L.tr.x {xND>-100}
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Figure 3: X coordinate in ND vs X in spectrometer. N20, run 2280
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Figure 4: Y coordinate in ND vs X in ND. N20, run 2280



yND:xND {xND>-100 && yND>-100 && na.nd.v1.RT[0]<-82e-9 && na.nd.v1.RT[0]>-95e-9}
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Figure 5: Y coordinate in ND vs X in ND, with cut on one of the right vetos time. N20, run 2280



yND:xND {xND>-100 && yND>-100 && na.nd.v1.LT[0]<-82e-9 && na.nd.v1.LT[0]>-95e-9}
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Figure 6: Y coordinate in ND vs X in ND, with cut on one of the left vetos time . N20, run 2280



